STYLE 4824
MAY 2007

FOR PRODUCT MANUFACTURED AFTER

AKRON

N

TECHNICAL SERVICE PARTS

"3]ZZON 9y} YlIM Ulewal skemje pjnoys peaH a|yjeq
3y} Japun punoy swiys pa1ojod Auy:310N

089 1111D5013ISN\/
CCCALILDOT YO CUNTANOIGVWYAd ISN 7

'SAOVAINS ONILYW T1V

ANV SONR-O TTV NO 3dNT-O-¥4IYVd ISN
‘§31ON ATdWISSY

AINO SAVIIHL MIYDS13S

WVIYLS JHOTULS HLIM
NIINI ONT A3sIvY

120800



STYLE 4824

AKRON® FOR PRODUCT MANUFACTURED AFTER MAY 2007
TECHNICAL SERVICE PARTS LIST

BRASS COMPANY

ITEM NO. DESCRIPTION PART NO. QUANTITY
1 Base Adapter 120310 1
2 Throat Pin 741072 3
3 Throat 120306 1
4 Turbine Theeth - Black 772160 1
5 Socket Head Screw 6-32 x 3/4” 765138 2
6 O-Ring 5-816 757324 1
7 Retaining Ring - Black 107979 1
7 Retaining Ring w/out Teeth ## 121001 1
8 O-Ring 2-142 757323 2
9 Socket Head Screw 1/4-20 x 1" 765182 1
10 O-Ring 2-137 757266 1
12 Ball Bearings * 40
3 Pattern Indicator Band 704922 1
21 O-Ring 2-140 757265 1

22 Socket Head Set Screw 10-24 X 3/16” 765024 1
24 Socket Head Set Screw 1/4-20 X 1/4” 765083 1
29 Swivel 1.5NH # 108313 1
29 Swivel 1.5 NPSH # 108314 1
29 Swivel 11/2 “BSP # 108315 1
31 Screw Socket Head Set 10-24 X 5/16” 767088 1
32 Pattern sleeve 120309 1
33 Nozzle Body 120308 1
34 Cam Insert 723036 1
35 Pattern Sleeve Ring 120307 1
36 Stem **** ++ 1
37 Bumper *** 803281 1
38 Spider Retainer ++ 1
39 Baffle Head 107977 1
40 Spacer *x 1
41 Label *x 1
44 Spring 768262 1
45 Gasket ** 717042 1
45 Gasket ** 714006 1
57 Indicator Band 704929 1

*Packet of 50 Ball Bearings P/N 109042

**Contact customer service for various flow spacers, gaskets and label part numbers

#For other threads order by description and thread size (ODM & TPI) or by Akron Thread Code

##To be used when not using turbine teeth

***The bumper is pressed on and timed with the pattern sleeve. It may need to be returned to the
factory for proper assembly.

++ Order spider/stem S/A 124974

**xx 20, 25, 26 are part of #36, Stem Assembly

AKRON PHONE: 330.264.5678 or 800.228.1161 | FAX: 330.264.2944 or 800.531.7335 | akronbrass.com

REVISED 8/18

BRASS COMPANY WARRANTY AND DISCLAIMER: We warrant Akron Brass products for a period of five (5) years after purchase against defects in materials or workmanship. Akron Brass will repair o replace
product which fails to satisfy this warranty. Repair or replacement shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service.

Tesleﬂ___ We will not be responsible for: wear and tear; any improper use, mai or storage; negl of the owner or user; repair or modification after delivery; damage; failure to
Proven“. Tr“sted follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY
.

STATEMENT, AND WE DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential,
incidental or indirect damages (including, but not limited to, any loss of profits) from any cause whatsoever. No person has authority to change this warranty.

ISO 9001 REGISTERED COMPANY © Akron Brass Company. 2018 All rights reserved. No portion of this can be reproduced without the express written consent of Akron Brass Company.



